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Exercice 1

Cocher les bonnes réponses :
194 est divisible : L] par 2 Ul par 3 L] par 5 Ul par 9 U] par 10
342 est divisible : (] par 2 [l par 3 (] par 5 [l par 9 (] par 10
150 est divisible : L] par 2 Ll par 3 L] par 5 Ul par 9 U] par 10
250 est divisible : (] par 2 [l par 3 (] par 5 [l par 9 0] par 10
610 est divisible : L] par 2 Ul par 3 L] par 5 Ul par 9 U] par 10

Exercice 2

Cocher les bonnes réponses :
305 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
810 est divisible : L] par 2 Ll par 3 L] par 5 Ll par 9 0] par 10
76 est divisible : ] par 2 O] par 3 (] par 5 (] par 9 0] par 10
39 est divisible : L] par 2 Ll par 3 L] par 5 Ll par 9 0] par 10
810 est divisible : (] par 2 O par 3 ] par 5 O par 9 0] par 10

Exercice 3

Cocher les bonnes réponses :
120 est divisible : 0] par 2 [l par 3 (] par 5 [l par 9 0] par 10
155 est divisible : L] par 2 Ll par 3 L] par 5 Ul par 9 U par 10
82 est divisible : (] par 2 [l par 3 (] par 5 [l par 9 0] par 10
600 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
261 est divisible : L] par 2 [l par 3 L] par 5 [l par 9 0] par 10

Exercice 4

Cocher les bonnes réponses :
75 est divisible : L] par 2 Ll par 3 L] par 5 Ll par 9 U] par 10
42 est divisible : (] par 2 [l par 3 (] par 5 [l par 9 0] par 10
261 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
415 est divisible : L] par 2 [l par 3 L] par 5 [l par 9 0] par 10
130 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10

Exercice 5

Cocher les bonnes réponses :
150 est divisible : 0] par 2 [l par 3 (] par 5 [l par 9 0] par 10
130 est divisible : L] par 2 Ll par 3 L] par 5 U par 9 U par 10
120 est divisible : (] par 2 [l par 3 (] par 5 [l par 9 0] par 10
195 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
387 est divisible : L] par 2 [l par 3 L] par 5 [l par 9 0] par 10

Exercice 6

Cocher les bonnes réponses :
585 est divisible : L] par 2 Ll par 3 L] par 5 Ul par 9 U] par 10
680 est divisible : (] par 2 [l par 3 L] par 5 [l par 9 0] par 10
84 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
455 est divisible : 0] par 2 [l par 3 0] par 5 [l par 9 0] par 10
123 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
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